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(1) { 2 x + 3 y = -8
y = 2 x
3 x 4+ y = 30

(3) { y = x - 05

(4) { y = — 3 x + 2

(5){3x—2y=l2
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(1) 2 x 4+ 3 y = -8 Q)
'{ y = 2 x )
QEDITRAT B ¥
2 x + 3 X 2 x = -8
2 x + 6 x = -8
&8 x = -8
x = -
xo= - TQITRALT,
y = =2 x = -1, vy = =2
2) { x = — 3 y 4+ 2 QD
3 x + y = 30 @)
DEQITRAT B
3 (- 3 v + 2) + y = 30
- 9 vy + 6 + y = 30
-8 y = 24
y = -3
y = -3 zOIRALT,
x = -3 X =3 + 2 = 1|
x = 11, y = -3
(3) { y = x - 5 N0
4 x - 7 y =47 -
DOzQIRANT B L
4 x - 7 ( x - 5 ) = 47
4 - 7 x + 35 = 47
-3 x = 12
x = -4
x = -4 =OITKRANLT,
y = -4 - 5 = -9 x = -4, y = -9
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(4) { y = — 3 x + 2 -0
x — 2 y =10 --®
OxQITRANT Bk
x — 2 (- 3 x + 2) =10
x + 6 x — 4 =10
7 x = 14
x = 2
x =2  EOIKKRALT,
y = -6 + 2 = -4 x = 2, y = -4

(5) { 3 x - 2 y =12 D

2 y = x - 8 )
QEDITRAT B ¥
3 x - (x - 8) =12
3 x - x + 8 = 12
2 x =4
x = 2
x = 2 %QITRALT,
2 y = 2 - 8
2 y = -6
y = -3 x = 2, y = -3
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